## **Award Worksheet**

Purchasing Entity: Shelby County Schools

Bid ID: 2255

Description: Bid for Central Nutrition Center
Category: 2017-2018 Cafeteria Film Bid- VL

Effective Start Date: Effective End Date:

Awarded:

 Bids Due By:
 01/27/2017 11:00 AM

 Bids Sealed Until:
 01/27/2017 11:00 AM

Run Date: 1/30/17 8:30 am

## **Vendor Summary Information**

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary
American Paper & Twine Company	For your acceptance up to 60 days.  HAACP Form included in attached file below.	Net 30 days.	20,004.5000
Form Plastics Company			78,746.0000
Oliver Packaging & Equipment Company	Please see attachment.	Net 30	23,300.0000
Plastic Connection Inc.	4 TO 6 WEEKS LEAD TIME. IF NEEDED SOONER PLEASE CALL.	N-30	34,109.0000
Preferred Packaging			45,235.0000
Sigma Supply Inc.	3 Days	Net 30 Days	20,195.0000
The Platinum Packaging Group			45,750.0000
WEBCO Packaging, Inc.	Item # 5023 Lead time 4 weeks for printed film Item # 5031 Lead time 10 days	Net 30	48,020.0000

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award		
No lotted items found fo	r the selected criteria. Item #: 5023 Film Wrap, Logo. Color Printed. Manufacturer & Part Number:	1 - 6000.0000 Foot Roll TRANSILWRAP CBS	Plastic Connection Inc.	132.5200	200	26,504.00					
	Quoted as Spec'd: Yes	TRANSILWRAF CBS	Product Number: 8ACL								
	Item Notes: Total: 200 Rolls		Froduct Number. OACL								
		Noo									
	Response Item Payment Terms: N-30										
	Response Item Notes: PRICE IS \$2.85 A POUND BACED ON A 46.5/LBS ROLL. 4 TO 6 WEEKS LEAD TIME. IF NEEDED SOONER PLEASE CALL.										
	Item #: 5023 Film Wrap, Logo. Color Printed.	1 - 6000.0000 Foot Roll	Preferred Packaging	132.5200	200	26,504.00					
	Manufacturer & Part Number:	Interplast									
	Quoted as Spec'd:   Yes   Product Number: Shelby 5023										
	Response Item Payment Terms: NET 30										
	Response Item Notes: 3-4 week lead-time for printed from date of PO										
	Item #: 5023 Film Wrap, Logo. Color Printed.	1 - 6000.0000 Foot Roll	The Platinum Packaging Group	139.5000	200	27,900.00					
	Manufacturer & Part Number:	Platinum Packaging G	Group - 5-2000-100-290-SCS								
	Quoted as Spec'd: Yes		Product Number: Platinum CX1	00							
	Response Item Payment Terms: 1% net 10, 30 days										
	Response Item Notes: 20" x 600	00' 100g 45 LB/RL, \$3.10/lb	)								
	Item #: 5023 Film Wrap, Logo. Color Printed.	1 - 6000.0000 Foot Roll	Form Plastics Company	208.0400	200	41,608.00					
	Manufacturer & Part Number:	Form Plastics Compa	ny - 9890-6000TBD								
	Quoted as Spec'd: Yes		Product Number: 9890-6000TB	D							
	Response Item Payment Terms: 1% 10 NET 30										
	Response Item Notes: \$208.04/cs 1 roll per case/6000ft per roll/50 Min Order/Plate Charges \$1500.00/Lead Time 6-8 Weeks from receipt and approval of art work and receipt of p.o.										

Line Lot Number Code	Item Description Item #: 5023 Film Wrap, Logo. Color Printed. Manufacturer & Part Number:	Purchase Unit 1 - 6000.0000 Foot Roll Transilwrap - CBS	Vendor WEBCO Packaging, Inc.	<b>Bid Price</b> 236.2900	Response Quantity 200	<b>Total Price</b> 47,258.00	Pending Award Quantity	Pending Award Total	Pending Award	
	Quoted as Spec'd: Yes		Product Number: HSCT2-F							
	Response Item Payment Terms	s: Net 30								
	Response Item Notes: Lead tim	ne 4 weeks Art & Plate - \$50	00 per color. One time fee only. 5	colors plus white	underlay					
2	Item #: 5031 Heat Seal Lidding Machine Film Manufacturer & Part Number:	1 - 5100.0000 Foot Roll Transilwrap - OL-F P	WEBCO Packaging, Inc.	7.6200	100	762.00				
	Quoted as Spec'd: Yes	·	Product Number: OL-F-PET							
	Item Notes: Total: 100 Rolls									
	Response Item Payment Terms	s: Net 30								
	Response Item Notes: Lead time 10 days									
	Item #: 5031 Heat Seal Lidding Machine Film	1 - 5100.0000 Foot Roll	Plastic Connection Inc.	76.0500	100	7,605.00				
	Manufacturer & Part Number:	Dupont - 50LFPA-10.	375							
	Quoted as Spec'd: Yes		Product Number: 5GCA							
	Response Item Payment Terms	s: NET-30								
	Response Item Notes: PRICE I PLEASE CALL.	S \$4.50 A POUND BACED	ON A 16.9/LBS ROLL. 4 TO 6 W	EEKS LEAD TIME	. IF NEEDED	SOONER				
	Item #: 5031 Heat Seal Lidding Machine Film	1 - 5100.0000 Foot Roll	The Platinum Packaging Group	178.5000	100	17,850.00				
	Manufacturer & Part Number:	Platinum Packaging (	Group - 5-1038-050-600-RL							
	Quoted as Spec'd: Yes		Product Number: GPG 50							
	Response Item Payment Terms	s: 1% net 10, 30 days								
	Response Item Notes: 10.375"	x 5100', 21 LB/RL, \$8.50/lb	1							
	Item #: 5031 Heat Seal Lidding Machine Film	1 - 5100.0000 Foot Roll	Preferred Packaging	187.3100	100	18,731.00				

							Bara Para	Don Para		
Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
	Manufacturer & Part Number:	DuPont		-						
	Quoted as Spec'd: Yes		Product Number: 50LFPA- 10.3	75						
	Response Item Payment Terms	: NET 30								
	Response Item Notes: 3-7 busin	ness days from PO								
	Item #: 5031 Heat Seal Lidding Machine Film	1 - 5100.0000 Foot Roll	Oliver Packaging & Equipment Company	233.0000	100	23,300.00				
	Manufacturer & Part Number:	Oliver Packaging & E	quipment Company - 61868							
	Quoted as Spec'd: Yes		Product Number: 61868							
	Response Item Payment Terms									
	Response Item Notes: 10.375"	x 5,100' 50RL42								
	Item #: 5031 Heat Seal Lidding Machine Film Manufacturer & Part Number:	1 - 5100.0000 Foot Roll Form Plastics Compa	Form Plastics Company	371.3800	100	37,138.00				
	Quoted as Spec'd: Yes	·	Product Number: 9785-5200DP	CP						
	Response Item Payment Terms	: 1% 10 Net 30								
	Response Item Notes: \$371.38/		er roll							
3	Item #: 5036 Roll, Wrap, Stretch, 80 Guage	1 - 1500.0000 Foot Roll	American Paper & Twine Company	9.6900	1,900	18,411.00				
	Manufacturer & Part Number:	Sigma - HBH181580								
	Quoted as Spec'd: Yes		Product Number: 181209							
	Item Notes: Total: 1,900 Rolls									
	Response Item Payment Terms	: Net 30 days.								
	Response Item Notes: Priced pe	er roll. 4 rolls per case. Eac	h roll is 18" x 1500' 80 gauge.							
	Item #: 5036 Roll, Wrap, Stretch, 80 Guage	1 - 1500.0000 Foot Roll	Sigma Supply Inc.	9.8000	1,900	18,620.00				
	Manufacturer & Part Number:	Sigma Plastics Corp								
	Quoted as Spec'd: Yes		Product Number: HBH181580							
	Response Item Payment Terms: Net 30 Days									

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
		Response Item Notes: 3 Days								
4		Item #: 5029 Roll, Wrap. Stretch, 63 Guage Manufacturer & Part Number:	1 - 5000.0000 Foot Roll Interplast Corp	Sigma Supply Inc.	31.5000	50	1,575.00			
		Quoted as Spec'd: Yes		Product Number: 151026						
		Item Notes: Total: 50 Rolls								
		Response Item Payment Terms	: Net 30 Days							
		Response Item Notes: 3 Days								
		Item #: 5029 Roll, Wrap. Stretch, 63 Guage Manufacturer & Part Number:	1 - 5000.0000 Foot Roll Sigma - MIT205063S	American Paper & Twine Company	31.8700	50	1,593.50			
		Quoted as Spec'd: Yes		Product Number: 045746						
		Response Item Payment Terms	: Net 30 days.							
		<b>Response Item Notes:</b> Priced population Performance guaranteed.	er roll. Each roll is 20" x 500	00' 63 gauge. One-side cling. 50 r	olls per pallet. Co	mparable to A	mtopp.			